| eading the
Integration
Revolution

Your business problems have changed.
Why hasn’t your integration solution?
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Mapping Scenarios



Example 1: Mapping scenario — Applying ‘For Each’ condition

Source Target
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Example: Map source records into target. Apply ‘For Each’ condition to
pull all the records from the source and map to target fields.

Refer to Mapper Help on how to apply mapping functions such as
Constants, String, Math, Conditional, Aggregation, Date, Variables etc.
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Example 1: Mapping scenario — Applying ‘For Each’ condition

Structure_of_source_X5D
¥ [ Root (EmployeeBenfitsExcelschema)
¥ [ Record (M) L ]

@ recordMumber /—!
<> EmpFirstMame (string) (M) » &
<> EmplastName (string) (M) — —
<> EmpMiddlelnitial (string) (M) D— —
<> Emp55N (string) (M) ”— —0
<> EmpGender (string) (M) — —
<> EmpAddrl (string) (M) —
<> EmpAddr2 (string) (M) — —
<> EmpCity (string) (M) *— -
<> Emp5tate (string) (M) — —

Structure_of_destination_X5D
¥ [ Root (String) (EmployeeBenifitKMLSchema)

¥ [ Record (5tring) (M}
<> 55M (String) (M)
<> firstName (5tring) (M)
<> middleNames (String) (M)
<> lastName (String) (M)
<> addrLinel ({(5tring) (M)
<> addrLine2 (String) (M)
<> addrLine3 (String)
<> city (String) (M)
<> region (5tring) (M)
<> postalCode (String) (M)

By connecting Source ‘Record’ node to the Target ‘Record’ node applies a ForEach condition that would pick all the record from the

Source and map to the Target schema. If this ForEach condition is not applied then only one record would be picked from the Source.

If we need to apply a filter condition on the ForEach such as ‘Select records where State is not equal to CA’ then use the following approach.

First select the Target Record node then go to its Properties and put your cursor in the ForEach field. On the ForEach field in the Properties

panel double click on the Source Record node and then add a predicate with the logic as shown below. Refer to Mapper Help for more information.

\
| | ﬂData Mapper ri-_',‘p(SL r{g« bugger |

MO =T0o=m OB » 1

Current Element : Record

iructure_of_source_X5D Structure_of_destination_X5D
¥ [ Root (EmployeeBenfitsExcelSchema) ¥ [ Foot (5tring) (EhployeeBenifit{ MLSchema)
¥ [ Record ¥ Bl Record (Stripg) (F)
@ recordMumber /—t <> SSN(Strimg) (M)
<> EmpFirstName (string) (M) k] » <> firstName (String) (M)
<> EmpLastName (string) (M) — — <> middleMames (String) (M)
<> EmpMiddlelnitial (string) (M) — —_—n <> lastName (5tring) (M)
<> Emp5S5N (string) (M) — <> addrLinel (String) (M)
<> EmpGender (string) (M) — <> addrLine2 (String) (M)
<> EmpAddrl (string) (M) <> addrLine3 (String)
<> city (String) (M)
Math String Date Aggregation Conditiorlal Axis Boolean Context XSLTemplate DB
[ \
3 _|' Mapping Rules r Textual Rules r Local Variawes r Properties
= T RootRecard ¥
{_ $input_EmployeeBenfitsExcelSchemalRootRecord[EmpSiate [= ‘TAT] 4
4 & = ForEach
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Example: Apply a lookup on a database reference table or a
Value Map based on a source field value and map the result into
a target field.
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Example 2: Mapping scenario — Applying ‘Lookup’ condition

<> Occupation (string) |—f_‘__‘.'--'_' <>refertedimicator (String) (M)
<> ElectionCode (string) (M) »— _,,-u-"""’_' <>|coverageCode (5tring) (M)
<> OrglD (string) (M) s " = <>larganizatemtB—Sring) (M)
<> PolicyMumber (string) (M) | <> policyMumber (5tring) (M)

1 String Date Aggregation Conditional Axis Boolean Context XSLTemplate DB

_|' Mapping Rules | Textual Rules r Local Variables r Properties |

DBOuery {Select CoverageCode from CoverageTable where PolicyMumber =
"$Input_EmployeeBenfitsExcelSchema/Root/Record/PolicyMumber' , DBConnection, false }

Select the target field and then go to Textual Rules and select DB. It will show a function that takes three parameters. In the first parameter

write the SQL query and put the Source field that is going to be used for the lookup in the Where clause. Use single quote if the source field is

of type text. The second parameter uses the DB variable name (refer to Help on how to create the DB connection variable). The third parameter is
either True or False. True means that more than one records in the result set, False means only one record in the result set. The return response
from the query will be mapped to the target field.

If the reference data is not in a Database but in a CSV file or if you want to create a new Reference list within Mapping then use the Value Map (VM)
Function as shown below. Refer to Mapper Help on how to use Value Map.

o E! B Q=0 =B m & Current Element : coverageCode
B L i o == Gt s gowemisiy e
¥ [ Record Value Map Dialog

@ recordNumber X

<> EmpFirstName (string Mame: | Referencelist Scope: (=) Global Group =

<> EmpLastName (stril LT

<> EmpMiddlelnitial (stril Frar| iVaIue Map T+

s ctrinn e | e

<> Uccupation (string) /—‘i‘ N e ectedind IEATr (string) (M) :
<> ElectionCode (string) (M) *— /—' <> coverageCode (String) (M) [a ]
<> OrglD (string) (M) o — ] <> organizationlD (String) (M)
<> PolicyNumber (string) (M) <> policyNumber (String) (M)

ing Date Aggregation Conditional Axis Boolean Context XSLTemplate DB

pping Rules r Textual Rules r Local Variables r Properties |

[ ol [ilte o] {1 [reraped
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Example: Map source records into target. Apply ‘For Each’ and
duplicate handling condition to pull only unique records from
source and map to target.
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File View Actions Help

& Dotz Macoer [ xst | G Debuner |

| 3 Open Source Schema J L 44 OpenTarg
~ Structure_of_source_XSD Structure_of_destination_XSD
= A& Root (RS_BanefrsExcelSchema) E- A Root (RS_EmployegBeneftsDB)
=& Record -4 Record (F)
- recordNumber i @ Action
-~ EmpFrstiame (strng) (M) -—— - recordNumber
~-@ EmpLastame (string) (M) *-— — - EmpSSN (integer) (M)
- @ EmpMiddielnril (strng) (M) —— — i@ EmpFirstame (stang) (M)
gl -~ EmpSSN (string) (M) — —o i~ EmpLastlame (string) (M)
~-@ EmpGender (string) (M) o—-\\—o i@ EmpMddieInkal (string) (M)
@ EmoAddrl (strng) (M) ol = 9t (000) 0O
~@ EmpAddr2 (string) (M) ° ® @ Addr1 (string) (M)
- @ EmpCty (string) (M) ~— i+ Addr2 (string)
--@ EmpState (strng) (M) -—Q —— - EmpCity (string) (M)
~@ EmpZpCode (string) (M) -— ——e i@ EmpState (string) (M)
U @ EmpDOB (string) e @ EmpZpCode (stng) (M)
~-@ Occupation (string) (M) o—'*'~\ i~ DOB (string)
- @ ElectonCode (string) (M) — —1—e i@ Occupaton (strng) (M)

Math String Date Aggregation Conditional Axis Boolpan Context XL Template DB

| [1é, Properties

/

(1) Maooing Rues |3 Textual Rules | @ Local Variables
3 > Path RoovRecord

Vv

> ForEach

/

Sinput_RS_BenefitsExcelSchemaRootRecord{not{ preceding: EmpSSN = EmpSSN ) and no¥( precading:: ElectionCode = ElechonCode )] -

D> Sorting | é Clck here to add/view Sorting Ru
g > Disable-Output-Escaping no

Select the Target Record node and go to its Properties and put the cursor in the ForEach field. Now double click on the Source Record node and
Then apply the ‘preceding’ Axis function. Here the example shown above is to pick only those records whose SSN and ElectionCode do not match with
any preceding records from the Source. If the condition is met then record will be sent to Target else it will be considered a duplicate and will be filtered

out.
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Example: Pivot single source record to multiple target records.
Repeat the same rule for remaining source records.
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Example 4: Mapping scenario — Pivot single source record to multiple target records.

A car brand that maintains its product listing as :

Article Modell Model2 Modeld Modeld ModelS
Car Brioc Civic Pilot CRV |Jaaz
Eike CERZ250R RoadMaster Helix Super Hawk Scrambler

The ouput required should be as :

Lrticle Model

L I e B C]

Car Brio
Car Civic

4 Car Pilot

> Car CEV

~  Car Jaaz

7 Bike CERZ30R
Eike EoadMaster
EBike Helix

0 Bike Super Hawk

1  EBike Scrambled

The above mentioned scenario can be achieved by pivoting single source record to multiple target records in Data
Mapper as shown below.
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Example 4: Mapping scenario — Pivot single source record to multiple target records.

1) Apply for- each at the root level of target schema with the XPath of the Source Record.

+ Structure_of_source_XSD Structure_of_destination_XSD
=8 . Root (ArticlesListing1) =1, Root (F, LV) (ArtidesListing2)
=}y Record = Record (F)

~@ recordNurmber
<> Articde (string)
<> Modell (string)
<> Model2 (string)
<> Model3 (string) IsAttribute :
( )
(string)

@ recordNumber

> Article (string) (M)
> Model (string) (M)

Elernent Mame : Article

= Create a ForEach on Root level of the Target
Data to iterate for each source Record.”

<> ModeM (string
<> Models (string

Math String Date Aggregation Conditional Axis Boolean Context XSL Template DB

(Mapping Rules rTexmal Rules rLucal Variables rPrupErﬁes

5 v
£2 XPath /Root - x
& SInput_AriclesListing1/RootRecord - iL
] ForEach :

& -

2) Create a local variable say 'varArticlel' at the root level , to select the schema 'Article’ field value.

+ Structure_of_source_XsD Structure_of_destination_Xs50
=-1) Root (ArticlesListing1) E- . Root (F, LV) (ArtidesListing2)
=] | Recard = | Record (F) .
@ recorchiumber @ recordhumber Create a local variable at the root element of the
<> prticle (string) <> Article (string) (M)

<> Modell (string) <5 Modzl (string) (M) target Schema to store the 'Article’ field value.

<> Model2 (string)
--<> Model3 (string)

<> Modeld (string)
--¢> Models (string)

(=

ath String Date Aggregation Conditional Axis Boolean Context XSL Template DB

r,Mapping Rules ”’Texmal Rules rLocal Variables rPraperﬁes |

el e v
o m? x
L. (& Local Variable Name ‘ (3 Local variable value (3 Add Comment
T
E varArticle $Input_ArticlesListingl/Root/Record/Article t
o ﬁ -
varArticle1
3) Now Apply for- each on the record level of target Schema.
+ Structure_of_source_XSD Structure_of_destination_XSD
El- [ Root (ArticlesListing1) B~ Root (F, LV) (ArticlesListing2)
[ . Record =- . Record (F)
--@ recordlumber @ recordiumber H
i e Now apply for-each on the target record to iterate
Bitlon > Hodel (stma) () over all the child elements whose name is not
i--<> Model3 (string) ! 1 !
o o Article'.
&> Model5 (string)

Math String Date Aggregation Conditional Axis Boolean Context XSL Template DB

rMapping Rules r/Texmal Rules rLucaI Variables rPruperh'Es

¥Path /RootRecord 2

11

child:: * [ namef() 1="Article’] &
ForEach

mﬁNode
bad B



4) Apply mapping on the Article element of the target Schema.

. S_tmcture_of_source_XSD
£ . Root (ArticlesListing1)
E}M Record
- @ recordiumber
<> Article (string)
<> Modell (string)
<> Model2 (string)
<> Model3 (string)
<> Model (string)
i¢> ModelS (string)

-

Structure_of_destination_X5D
- Root (F, LV) (ArticlesListing2)
&k L) Record (F)
@ recordiumber
<> Artide (string) (M)
--€> Model (string) (M)

Math String Date Aggregation Conditional Axis Boolean Context XSL Template DB

Mode

(Mapping Rules | Textual Rules |Local Varisbles | Properties |

$varArticlel

lobal i

5) Apply Mapping on Model element of the target schema.

(4] Structure_of_source_XSD

=~ |. Root (ArticlesListing1)
E}H Record

@ recordumber
L3 Article (string)
<> Modell (string)
<> Model2 (string)
i--<> Model3 (string)
<> Model (string)
i.<> Models (string)

E

Structure_of_destination_XSD
-} Root (F, LV) (ArticlesListing2)
2} Record (F)
@ recordNumber
<> Article (string) (M)
--¢> Model (string) (M)

Math String Date Aggregation Conditional Axis Boolean Context XSL Template DB

[ Mapping Rues | Textual Rules [Local Variables | Praperties |

Slobal 1 Mode
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Use the local variable created at the root
level of the target schema to map the 'Article’
element of target schema.

Map the Model element value of the target

Schema by applying a “” in textual rule. This
will pick values from Model one by one.
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Example 5: Mapping scenario — Pivot multiple source records into a single target record.

Source Target

. N 4

BEEOC
B

Example: Pivot multiple source records into a single target record.
Repeat the same rule for remaining source records that repeat after
5 rows. In other words one target record comprises of 5 source
records block.
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Example 5: Mapping scenario — Pivot multiple source records into a single target record.

A car brand that maintains its product listing as:

Lrticle Model

Ly b =

Car Brio
Car Ciwvic

4 (Car PFilot

= Car CEW

~  Car Jaaz

7 Bike CERZS0R
Bike EoadMaster
Bike Helix

0 Bike Super Hawk

1 EBike Scrambleﬂ

The ouput required should be as :

rticle Modell Model2 Model3d Modeld ModelS
Car Brio Civic Pilot CEV |Jaaz
EBike CERZ250R RoadMaster Helix Super Hawk Scrambler

The above mentioned scenario can be achieved by pivoting multiple source record
to single target record in Data Mapper as shown below.
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Example 5: Mapping scenario — Pivot multiple source records into a single target record.

1) Apply for-each at the target record with the Xpath of the Source Record.

+ Structure_of_source_XSD Structure_of_destination_XsD
=] Roat (Article_Listing2) B Roat (Arctile_Listing1) . .
& [l Record & Record () Apply ‘For Each’ and duplicate handling
i@ recordMumber i@ recordMumber - . .
> Artice (sting) (M) > Artice (sting) (M) condition to pull only unique (Article Jrecords from
<> Model (string) (M) i~<> Modell (string) (M}
e Model2 (string) (M) source and map to ta rget.
<> Model3 (string) (M)
<> ModeM (string) (M)
<> Model5 (string} (M}
Math String Date Aggregation Conditional Axis Boolean Context XSL Template DB
o] (Mapp\ng Rules rTexu.la\ Rules rLoca\ Variables '(Properﬁes
3 v
= ¥Path /Root/Record : ]
F $Input_Article_Listing2/RootRecord] not{preceding::Aricle=Aricle) ] - ,{
2 ForEach
2) Apply one to one mapping at target field name "Article' and 'Molde1" elements of target Schema App|y one to one Mapplng for Article and Model1l
= Structure_of_source_XSD Structure_of_destination_XSD field of ta rget Schema.
£ |, Root (Article_Listing2) E- ) Root (Arctile_Listing1)
B | Record = i Record (F)
i@ recordNumber +-@ recordNumber
<> Artide (string) (M) * * > Article (string} (M)
i-¢> Model (string) (M) » el > Modell (string) (M)
> Model2 (string) (M)
> Model3 (string) (M)
<> ModeM (string) (M)
L¢3 Models (string) (M)
‘M'ath String Date Aggregation Conditional Axis Boolean Context XSLTemplate DB
o Mapping Rules I’Text.lal Rules r\.oca\ Variables rPropemes|
] | ¥
E . . . . ' '
1l O | ¢ Here we are applying mapping for field name'Model2
’% ‘ ‘ {, of target Schema to fetch value of the Model field
following the first source Record.
2) Apply mapping at Model2 and other element of target schema . Use the following-sibling function to fetch records following
= T oor G Lonng2) R e Hetaton X Record 1 and map to ‘Model2’ .Similarly use following
e e riumber O oriambar sibling to fetch records following Record 2 and map to target
Lo<> Artide (string) (M) i< Article (string) (M) . . .
[ odet g {2 Modes (stnng) (M) field ‘Model3’.Thus similarly map target field ‘Model4’ and
<> Model2 (string) (M) .
e sun) ‘Model5’ to fetch the Records following Record 3 and
&> Model string M
| <> Models (strmg) (M) Record4 correspondingly using the
Math String Date Aggregation Conditional Axis Boolean Context XSL Template DB fO”OWing - Slbllng function.
M [Mapping Rules | Textual Rules [Local Variables | Properties | v
2 following-sibling:: Re:c:d[l]/}!cdal‘ 2®
E L8
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Example 6: Mapping scenario — Merging two sources by common key

Source Target

H\ -
/

= L
-
L
_L

Example: Two sources (header & details) merged by a common key

into a target. The number of records in target equal the number of records
in details. Each target record contains values from header record based on a
Join condition using a common key available in the two sources.
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1) Apply for-each at the target record with the xPath of the first schema.

Stiisctune_of_ssaee_ XS0 Stfuctue_of_destiration XS0
7k Root {emplorpeelatal _aMLScherma) - Rt (employeaDaa] WML Schara)
- Rocoeds {F) =k Bocords (F, LV}
W reconctjurmber W recondMurrh
I 4::"0“'? - = B rame (M) l'
@ e (MY - N @ emod [M] . .
 sary (W) rp—— Source Datal contains the details.
b dob [H} - - @ dob (M)
& Gen (M) & Gen (M)
3 AgeDfPerson — @ ApeOfPesson [M) i
e i | = Source Data2 contains the headers.
Bk Recacds (M) L

th Siring Date- Aggeegaton Condtional Aus Boolean Conted ¥5L Template D6
| Manping fudes | T Textusl Fukes | (8 Local Varibles | L, Fropertes.

: -
| lwnam [MocbReconds =
1’ sinput_s Data L ] Nz
> ForEach 1 R
2) Create a local variable say “varName” at the record level, to select first schema “name” field value. Create a ForEach on the Source Data 1.
Idea is that that Target record will iterate on each
Structure_of_souree XS0 Structyre_of_destmaton XS0 . . .
A Root {emploveeData3_MMLSchema) & Rook (mploysedatal_YNLScher) Detail record and the field in the target schema
= & Rocords (F) = & Roconds (F, LV) .
g S B recordiumer that needs a value from the Header will be
L M) . . @ nama (M) .
- et ) | wrot 0 obtained by a lookup.
o sahary (M) L - 4 wlary (M}
- dab (M) - - @ dob (M)
- Gen (M} L - @ Gen (M)
@ AgeQfPersan = @ AgeDiferson (M)
o i Rot (emplopeelatal_NMLSchema)
-4 Records (M) t—/
uﬂ:—, ﬂ::?; x -;h;;i‘;wﬁ“mw*rm ] Create a local variable in the Target Record node
ERT e and assign the value from field Name. Here Name

o | is a common field in the two sources.
#lngus_ewployeeDacal MHLSchemse Root/Recordse/name

3) Now apply the below rule atthe element “AgeOfPerson” (element where common data from second source needs to be mapped)
$input_employeeData2_XMLSchema/Root/Recordsfname = $varName]/age.

- + W iecosdNurThaer Strocture_of_gesmaton_X50
@ nama (W) — S & Root {employesbara
| :mmid M) O—\ G- Raceeds. {F, LV) . .
.:;E",i',:’ "_\ <bbinir Here we are looking for Age in Source Data 2
.:mﬁpm \_. By based on Name which is coming from the variable
= & Rt {empioyeeDatal_WMLSchema) — & dob (M) N . .
& vacorts (4) —— —  Smm® defined above. Use a Predicate function here.
+ M racoodhiumbne & Age M}
e -
e [
= o e
Math Stnng Date ign Conditionsl - daos Boolean -Conted N5L Template DB
[ o Rkes | 08 Tewnast s | Q@ Local Voriabies | L%, Prooeres | 17
2

| elnpur_esployeeletal N0 Schema Recr/Rrcorda(name = fvarlisse]/age



Example 7: Mapping scenario — Use Tokenize function to split a source field value into
multiple parts and map each of those parts to different fields in the target

Source Target

a D é

o- = sy A A 5

B O 8 O 4

Example: Use Tokenize function to split a source value into multiple target
fields and repeat the same rule on all the source records.
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Example 7: Mapping scenario — Use Tokenize function to split a source field value into
multiple parts and map each of those parts to different fields in the target

Data Mapper |2 %51 -.::;,_' Debugger
= L9

WHEHAAOZ=EOE LB T

+ Structure_of_source_X5D Structure_of_destination_X5D
=~ |. Root (LocationRecord) =1 1, Root (InsuredRecord)
=+ |, Record =+ |, Record
----- @ recordMumber b= @ recordMumber

----- <> InsuredMame (string)
----- <> Locl (string)

----- <> |Loc2 (string)
----- <> | o3 (string)
----- <> |ocd (string)

----- <> InsuredMame (string)
‘-3 |Location (string)

Suppose Location in the source has a value as
WV.L2.D3.F1 (also the pattern can change)

Each of the values separated by (.) need to be mapped to its related Target field.
Thus Locl is WV, Loc2 is L2, Loc3 is D3, Loc4 is F1
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Example 7: Mapping scenario — Use Tokenize function to split a source field value into
multiple parts and map each of those parts to different fields in the target

ij Data Mapper r‘::l XSL r{g} Debugger |

[ m Q= O =& L m I ab Current Element : Loc1
=~ Structure_of_source_X5D Structure_of_destination_XSD
&- ! Root (LocationRecord) B- )} Root (InsuredRecord)
- )} Record &}l Record
@ recordMumber @ recordMumber
ie> InsuredMame (string) <> InsuredMame (string)
i..<> Location (string) <> Locl (string)} (M, LV]\{

<> Loc2 (string)
<> Loc3 (string)
<> Locd (string)

e

-

Math String Date Aggregation Conditional Axis Boolean Context XSL Template DB

rMapping Rules rTextuaI Rules ||/LDIZE|| Variables rProperties

P f
D L= | i} +
(9 Local Variable N\ay (9 Local Variable value 1 {5 Add Comment

varLocl

atr:tokenize (${Input LocationRecord/Root/Record/Location, '.") [1]
4 i

:| Global ] Mode

Create a local variable "var1" on the target field like "Loc1" in which use the below function:
str:tokenize(SInput_SourceSchema/Root/Record/Location,'.")[1]
Map this local variable "varl" to the target field "Loc1" using the graphical or textual rule.

Similarly create another local variable "var2" on the second target field like "Loc2" in
which use the below function:
str:tokenize(SInput_SourceSchema/Root/Record/Location,'.")[2]

Map this local variable "var2" to the target field "Loc2" using the graphical or textual rule.

Follow the above steps for the rest of the Target Loc fields.
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Example 7: Mapping scenario — Use Tokenize function to split a source field value into
multiple parts and map each of those parts to different fields in the target

ﬂ Data Mapper ‘m HSL \g Debugger

[ El m O=EO=E O m il CnrrentElement:LoM\/
- Structure_of_suurce_XSD Structure_of_destination_XSD
- ./ Root (LocationRecord) =k ¥ Root (InsuredRecord)
= 1) Record L) Record

@ recordNumber @ recordMumber
<> Insurediame (string) <> Insurediame (string)
--<» Location (string) -€> Locl (string) (M, LV)
<> Loc2 (string)
i-<> Loc3 (string)
L.> Locd (string)

.. Parameters
1 # Global Variables

} = @+ ). Local Variables
‘ i B CurrentVariables

;- $varLocl (str-tokenize($Input_LocationRecord/Root/Record/Location, . )[1])
# Ancestorvariables

Wﬁ Mode
E

MO0 Z=e 3 @ »x
- Structure_of_source_XSD Structure_of _destination_XSD

B . Root (LocationRecord) B .. Root (InsuredRecord}

= )i Record (M) e @ E- )i Record (M)

i@ recordMumber
i InsuredMame (string) (M)
Locl (string)} (M, LV)
Loc2 (string)} (M, LV

Loc3 (string} (M, LV} Final map

Locs4 (string) (M, LV)

i@ recordMumber
e InsuredMame (string) (M}
e Location (string)

]

1

P

Math String Date Aggregation Conditional Axis Boolean Context X5L Template DB

Mapping Rules |/Te3(tual Rules |/Lu::u:al Variables |/Propertie5 |

[ [ - i

I j Mode
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Example 7: Mapping scenario — Use Tokenize function to split a source field value into
multiple parts and map each of those parts to different fields in the target

Result

zﬂ Diata Mapper |/"'I_}| XSL | q@ Debugger \/
Input %S : Output
LocationRecord InsuredRecord

1k #=xm] wersion="1.0" Enu:u:uding="ISEl—8|859—l" =

2k Root=

3 <Record recordifumber="12">-

4 <Insuredilane-Policyl« /Insuredilane>-
5 <Location=WV.LZ.D3.Fl</Locations J
=] </Records=

7 <Record recordifumber="16">

g <Insuredfame>=Policy2«< M Insuredlane:
9 <Location>ZZ.X2.G6G6. Fdl/Locations
10 </Records-

11} /Root=

1z

Source
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1 |<?xml version="1.0" encoding="TTF-27" 2>
2k Root>

3 <Record recordifumber="">

4 <Inzurediane>Policyl< /Insurediane-
5 e <Locl>V</Locl>

a - wlLoczxLa< fLocis

7 - L Loc3izD3<C/Locss

g e TLocd=FlsLocds

a

</Becords-
10 <RBecord recordifumber="">
11 <InsuredNamne>=Policya</Insuredifanes-
1z = LoclxZ2</Locls
13 e CLocEFH2 LocEy
14 = L Loc 360 Locss
15 s Locd=Fd/Locds
1 < /Becords-
17k fRoot= Target
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